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V Semester B.Com. Examination, March/April 2021

(Semester Scheme)
(Repeaters) (201 4 - 15 and Onwards)

COMMERCE
5.4 : Cost Management

, 
Time : 3 Hours Max. Marks: 100

I tnstruction : Answer should be written comptetely either in Engtish or in
Kannada.

SECTION _ A
1. Answer any ten questions of the following. Each sub-question carries

two marks. {10x2=20)
a) What is a job costing ?
b) What is a normal loss ?
c) What is standing charges ?
d) What is retention money ?
e) What is a composite cost unit ?
f) What do you mean by joint-products ? Give any two examples.
g) What do you mean by operating costing ?
h) What are cost-drivers ?
i) State any two advantages of ABC.
j) What do you mean by process costing ?
k) Give the meaning of JtT.
l) State any two limitations of ABC.

SECTION _ B

Answer any four questions. Each question carries eight marks. (4x8=32)

I Z. The following information is obtained from the books D and Co., Ltd. concerning
I of Job No : 123.

Materials used Rs. 500, direct labour:
Dept: A = 10 hours @ Rs. 2.50 per hour,
Dept: B = 8 hours @ Rs. 3.00 per hour,
Dept: C = 5 hours @ Rs. 3.50 per hour.

The estimated variable overhead cost of these departments are as follows :
Dept : A = Rs. 7,000 for 7,000 labour hours

B = Rs. 3,000 for 1,500 labour hours
C = Rs* 1,000 for 250 labour hours.

The estimated fixed over heads are Rs. 30,000 for 7,000 working hours. Rate
of profit 25"/" on selling price. Prepare estimated Job cost sheet. 

p.r.o.
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3. Write the features of process costing'

4.Fol lowingistheinformat ionofRi tzcontract :

Contract Price Rs. 12,00,000

Raw materials Rs. 3,20,000

Wages Rs. 3,64,000

Plant Rs. 2,40,000

Over heads Rs. 58,600.

As on 31"1March, 2016, cash received Rs. 6,40,000 being 80% of work certified

the value of unused materials at site amounted to Rs. 20,000 depreciate plant

by 10%.

Fortheabovein|ormationpreparecontractaccount.

1(5.Atransportserv icecompanyisrunningf ivebusesinbetweentwoci t ieswhich
are 50 Kms apart. Seating capacity of each bus is 60 passenger, the following

particulars were obtained from the books for March - 2016'

Wages of drivers and conductors Rs' 34'000

RePairs and maintenance Rs' 16'000

faxes and insurance Rs. 32,000

Diesel and oil Rs' 50,000

Salaries to staff Rs' 20,000

Depreciation Rs. 52,000

Other charges Rs. 40,000.

Actual passenger carried were 80% of the seating capacity' All the buses run

on all the days of the month. Each bus made one round trip per day. Find out

the cost Per Passenger Km.

6. From the following information relating to process A : prepare process account

and abnormal loss account'

7000 units of Rs. 1 each, materials introduced into process :

Labour Rs. 12,000
Overheads Rs. 13,500

Normal loss - 10%

OutPut 6,100 units-
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SECTION - C

Answer any three questions. Each question carries sixteen marks. (3x16=48)
7. Karina Constructions Ltd. undertook a contract for Rs. 24,00,000. The trial

balance extracted from the books forthe year ending 31"tMarch ZO14 is as
follows :

(Rs. in thousands)
' Particulars Dr. Cr.

Share capital 1,500' 
Debtors and creditors 2OO 500
Contractee account (80% of wc) 1,000
Land and Building
Bank account
Contract No : 12 Account :
Materials
Labour
Over heads
Plant

Total Rs.
Following information is available :
a) Materials at site Rs. 8,000.
b) Materials returned to stores Rs. 5,000.
c) Materials lost Rs. 3,000.
d) Plant costing Rs. 50,000, sold for Rs. 46,000. On 31 -5,2014.
e) Plant costing Rs. 3,00,000 was returned to stores on 01 4-2a14.
0 Plant lost due to fire Rs. 10,000.
g) Plant at 10% p.a.
Prepare :
1) Contract account.
2) Balance sheet as on 31.tMarch 2014.

8. Product'X' obtained after passing through three processes. You are required
to prepare process accounts and process loss accounts.
Particulars process

Materials 42,000 29,600 49,24A
Direct wages 50,000 70,000 90,000
Normal loss S% 10% 12%
Value of scrap sold p.u. 40 75 g0
Output 850 T4O 650
900 units at Rs. 50 per unit were introduced in Process l. Production overhead
of Rs.2,10,000 are to be distributed as 100% on direct wages.

600
250

800
600
50

500
3,000 3,000

ill
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SECTION _ C
Answer any three questions. Each question carries sixteen marks. (3x16=48)
7. Karina Constructions Ltd. undertook a contract for Rs. 24,00,000. The trial

balance extracted from the books forthe year ending 31.tMarch 2014 is as
follows :

(Rs. in thousands)
Particulars
Share capital
Debtors and creditors
Contractee account (80% of wc)
Land and Building
Bank account
Contract No : 12 Account:
Materials
Labour
Over heads
Plant

Total Rs.

Particulars

Materials
Direct wages
Normal loss

Dr.

200

ooo
250

800
600
50

500
3,000

Cr.
1,500

500
1,000

g,o0o

Process
l l

29,600
70,000

10Y"
75

740

Following information is available :
a) Materials at site Rs. 8,000.
b) Materials returned to stores Rs. 5,000.
c) Materials lost Rs. 3,000.
d) Plant costing Rs. 50,000, sold for Rs. 46,000. On 31 -9-2014.
e) Plant costing Rs. 3,00,000 was returned to stores on s1 a-2a14.
0 Plant lost due to fire Rs. 10,000.
g) Plant at 10% p.a.
Prepare :
1) Contract account.
2) Balance sheet as on 31.tMarch 2014.

8. Product'X' obtained after passing through three processes. You are required
to prepare process accounts and process loss accounts.

Value of scrap sold p.u. 40
Output 850

I
42,000
50,000

5%

ill
49,240
90,000

12/"
90

650
900 units at Rs. 50 per unit were introduced in Process l. Production overhead
of Rs. 2,10,000 are to be distributed as 100% on direct wages.
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9' The following are the costing records for the year 2015 of a manufactures :

Production 1,000 units

Labour cost Rs. 12,000

Office overheads Rs. 4,000

Cost of Raw materials 20,000

Factory overheads Rs. 8,000

Selling expenses Rs. 1,000

l r

Rate of profit @ 25% on selling price.

The manufactures in estimated to produce 1 ,500 units during 2016 it is estimated
that cost of raw material will increase by 2O%. Labour cost will increase by 10%.
Sef ling expenses per unit in reduced by 20% rate of profit wilt remain same.
The factory and office overheads will remain fixed in total as in 2016.

Prepare list of estimated cost from the above information and find the profit of
2016.

10. Mr. Kiran owns a fleet of taxis and the following information in available from
his records :

No. of Taxis 10

Cost of each Taxi Rs. 20,000

Salary of manager Rs. 600 p.m.

Salary of accountant Fls. 500 p.m.

Salary of cleaner Rs. 200 p.m.

Salary of machanic Rs. 400 p.m.

Garage rent Rs. 600 p.m.

lnsurance premium S% p.a.

Annual tax Rs. 600 per taxi

Driver's salary Rs. 200 p.m. per taxi

Annual repairs Rs. 1,000 per taxi.

Total life of a taxi is 2,00,000 Kms. A Taxi runs in all 3,000 Kms. In a month
of . which 30% it runs empty, petrol consumption is one liter for 10 Kms.
@ Rs. 11.80 per liter. oil and other sundries are Rs. 5 per 100 Km.
Calculate CosVKm.



|ililtilililtilililfiil]il]iltl

ddd esd3
et elJ

Sq:arl - a

1 . obdmddra a** d#eri w$orr. 4e 
-gdf 2 erodrlgt.

a) ca derndg *oddeob ?
b) ;od>d, d{aoddedr ?
c) ear{edaa noosr dafaodde$ ?
d) Oadra dra aodded: ?
e) doCrd dr"flde^td oodded: ?
f) aoul eruddfidodded: ? addl erucndd#ildd: doa.'  d 4  -  
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g) CIdrdma dafaodde$ ?
h) d{zoe;d$ aodde$ ?
i\ \ oq e. ̂+. ̂ {sluoddo add> erodCnedddd:,ggrr,.I I C^J. (r. ^J. w\4./ \r'/.,rJg€Jk]etr\JJg C^JlJl./i ../ \J U( 
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i) d6,o$ dzi .rodded: ?JJ ?.J

k) d.ec. t^3. oS efrr*3:*9ei
l) i.c3.tu d).rds dodsnlddr spld.

CrIErl - D

ddded wdor de d'8ri ocr$ scdrlgb.
) 4  - 3  - J  J <

1 a *{ do$cs Ec te*d doai, 123{ iouoetud.

dn" 500, ded do0:

A npd = dn. 2.50 dod 10 +otfr"ld)
B $pd = do. 3.00 dod B do$rid>
C azprl = d,o. 3.50 dod 5 do$rld:
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(10x2=20)

(4x8=32)

udenrbd d>es: dridd::
?,3

CI?orrrlA = 7,000 Sou3zld gdf- dc. 7,000

Dqrrd B = 1,500 Soo3rid 9S{ dra. 3,000

eqi"d C = 250 Soo3dd 4d>€ do. 1 ,000.

r;d a3:ee.r: d{rls dro. 30,000, 7,000 Sou3dd $a$t* dnol€i ?,ieJo$ c>ee3 2s%d erar{
dd*od, ssc Eeid d{r$* dnot^l ddo$dldod:&aosro.

3. $gC, dod daf Droro$d o{eanedludosro.



7 . doein rb€rlcrDd$ drd. 24,00,000 dd nbgrlo$d1e""r1d:qd. edd cJ{ d{ddeod dddod
a$dndobdlaoaod g1 d dDaf r,2014docb drfoCennd.

qJn^J!l

decb uodaad
sbrddslr c>$ dedrldc
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4. Eddod dDbgoJD oo^1do#eo$ rbgriri ioe,rop.r,d.

rbErfo$ deJ dn. 12,00,000
dzslm$ryddr dra. 9,20,000
dJoe) dro. 3,64,000
xa*dd dro. 2,40,000

*:y {4d" s8,600 oorod : 31 d dnztrr, 2016dod: rbariord$ dro. 6,40,000
dqq ddod:sad, .ad; BO%d dodd d,peddrad-, d*aandcdd. dJeri de;dd z^:p
dro. 2b, 0 0 0 ddo* m ab D dd: vue a d;d d. #"*Ca cie eJ 1 0 % ddp}dde oir*1 ari ol, o.
d;ee)d addderi dd*od $grl sado$d1doho,tu.

5. e"oc$ xaori dodDob 50 8.tue. dradd2 dr.:pdd abd" 5 uii:dd$ t Gildd. d,e ud)
6 9,q o$i. sdqdd4d9drE Q, " 

gcb. dddo d dn d.g c3.lD o o ii, z,z* { m fo *S r,.-eo e 6: e u i
ddddldod:aaouo. 
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2016, dnaicr :
zoe-rd aj:d: p;nrddd dJDO dra. 34,000
d;d,t, "f:Q Odrdraa dqd". 16,000
adr *d: dori do. 32,000
Gedef an* a€" dro. 50,000
dqJeo Arz^:pOoJ: ioud dro. 20,000
dddq drJ. sz,ooo
.qdde dqd$ dro. 40,000.

1** "PSf. 
dnavr sorld e)err addderq i;aoad:$d nbe derodo B0% ddo,

dcJDedddd,>or,anrd:dd. de ar{adt* uocb do{Bear {o:nm *na&dd
6. dddod dnaedrod dgob'A' arrd oado uxadnd, d{aoddddldono,ri.

7000 cmn[,s"rld dzo*doafrrddl dro. 1.00 dod udierond. d;oo dJ?. 12,000,
abee.r:dz3 dra. 1 3,S00,;?C)Dd, d{ iOV", wo;Cd 6,1 00, o:rope,s"dst.zr - '$'-- 
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1,500
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1,000
.-

3,000
dL$dO dn8c8:

a) deE;oabDdd erued dra. 8,000.

b) erurgsadr mabrydd ouhg dra. 5,000.

c) dz,c*arfDrfd d*d dra- 3,000.

d) dn" s0,(mdCqJd#>*, dra. 46,000 { ooaod 31 -3-2014 dod: d>oo.l
e) fe#{ttrodngddlf$ dD. 3,00,000 enn3$ $erlri 31-3-2014d* dnaoa.d.

0 doffitqdddd{dra. 10,000.

d Srfdt*"#dd:eeJ 1o%

d60l:

1) rirJrl and

2) et6ad dgd a : 31-3-2014.
'X' a"^gdt a1:ro$ doddddlmeil dnerbdd. ndd* douoQ:idod dddod dnaAobod

$e dodd andcr:d1*Q de dodd d{ aodoildldoJno,l.

!!ii#'

I
42,000
50,000

5%

40
850

dodilsb
l l

29,600
70,000

10o/o

75

740

I l
49,240
90,000

12%

90
650

dcd ld, d.o; 50 aJeJob 900 airoOurddd.:o dodn:.,d. erusodoa doewdzd$do
&,.2,10,000, ,ge do#o* ded do0oJ: 100% dozJe.ld>dd.



uG - 181 I|||||ilililtliltililtfilil||iltl

d>oao; ddd". 1,000
2016dO_ dDOddr 1 ,S00
dooacbqd.

9' dddod dDbgol]: 2015d nodO-dcno,ld 1000 o$raeo^fdd doJnodri douco:rd.
d*"-$D dn. 20,000 dne drD. 12.000
roarordo$ d:eer: dald$b drD. 9,000 dqJeo &eeldz$. dro. 4, 000

epd dnoae^i aJeJo$ d:ee525%
o$.oDuedddl dolDodel rbo dnoad: , dddcd dDS*g

daqmd:! LJei 2}y.ddg aod.
draO 10%d$"reod"

dnoao,l daf 20% .a*E.

deddaa$ mS udendd "q$d)oe:,
raarcrd *d; dgeo ubeu:dafd+tc e'uqd,ldaond$d.
d,:eo*od adddsod eod-r&J ddd dr*o$dldoJDotu.
20 1 6 d en qJddl dod:aa obo.

10' sdso-' 10 [,sdljds'd1 dooae$o eldldd odrddri ioelopndod dqldcd dDso.gc$d)
r,dfltrd:od. 
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$D.6dsJ doal" 10
O ^ J  d

6.9 qE"o$ deJ dro. 20,000
drgdercn doud dn. eodprl OOO
dqpaooJ: doud goderi do. 500
sJd; doud eorlvrl do. 200
ubor&u'dou;d godgrl dro. 400
rordeef; ?JDAd Eodprl do. 600
ac> 5% aoard
aaard dorl do. 600 de t,o,irt
zoe.:dd doud Eodqrl do. 200 de ua,ff
aa.trd cbdx6*a{dro. 1,000, de oo,s;'l.

9: 
*rl,.s eoed 2,0!, 

?90 i. p * de pd{ob E ortqri 3, 000 E. tu e. iraa ddd .addo_
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